
Comp 555 - BioAlgorithms - Spring 2020

Searching for Shared Patterns

Problem Set #1 

is online and 

due on 2/16/2020
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Regulatory Regions
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Transcription Factor Binding Sites¶
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Identifying Motifs: Complications
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Let's look for an Easy Motif
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Sneak Peek at the Answer
 1 tagtggtcttttgagtgTAGATCCGAAgggaaagtatttccaccagttcggggtcacccagcagggcagggtgacttaat
 2 cgcgactcggcgctcacagttatcgcacgtttagaccaaaacggagtTAGATCCGAAactggagtttaatcggagtcctt
 3 gttacttgtgagcctggtTAGATCCGAAatataattgttggctgcatagcggagctgacatacgagtaggggaaatgcgt
 4 aacatcaggctttgattaaacaatttaagcacgTAGATCCGAAttgacctgatgacaatacggaacatgccggctccggg
 5 accaccggataggctgcttatTAGATCCGAAaggtagtatcgtaataatggctcagccatgtcaatgtgcggcattccac
 6 TAGATCCGAAtcgatcgtgtttctccctctgtgggttaacgaggggtccgaccttgctcgcatgtgccgaacttgtaccc
 7 gaaatggttcggtgcgatatcaggccgttctcttaacttggcggtgTAGATCCGAAcgtctctggaggggtcgtgcgcta
 8 atgtatactagacattctaacgctcgcttattggcggagaccatttgctccactacaagaggctactgtgTAGATCCGAA
 9 ttcttacacccttcttTAGATCCGAAcctgttggcgccatcttcttttcgagtccttgtacctccatttgctctgatgac
10 ctacctatgtaaaacaacatctactaacgtagtccggtctttcctgatctgccctaacctacaggTAGATCCGAAattcg

Now that you've seen the answer, how would you find it?
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Meet Mr Brute Force
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A Library of Helper Functions
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Using itertools
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Permutations of mixed types
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Bruteforce Exact Search 
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Now let’s Test and Time it
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Approximate Matching

Now let's consider a more realistic motif finding problem, 
where the binding sites do not need to match exactly.

 1 tagtggtcttttgagtgTAGATCTGAAgggaaagtatttccaccagttcggggtcacccagcagggcagggtgacttaat
 2 cgcgactcggcgctcacagttatcgcacgtttagaccaaaacggagtTGGATCCGAAactggagtttaatcggagtcctt
 3 gttacttgtgagcctggtTAGACCCGAAatataattgttggctgcatagcggagctgacatacgagtaggggaaatgcgt
 4 aacatcaggctttgattaaacaatttaagcacgTAAATCCGAAttgacctgatgacaatacggaacatgccggctccggg
 5 accaccggataggctgcttatTAGGTCCAAAaggtagtatcgtaataatggctcagccatgtcaatgtgcggcattccac
 6 TAGATTCGAAtcgatcgtgtttctccctctgtgggttaacgaggggtccgaccttgctcgcatgtgccgaacttgtaccc
 7 gaaatggttcggtgcgatatcaggccgttctcttaacttggcggtgCAGATCCGAAcgtctctggaggggtcgtgcgcta
 8 atgtatactagacattctaacgctcgcttattggcggagaccatttgctccactacaagaggctactgtgTAGATCCGTA
 9 ttcttacacccttcttTAGATCCAAAcctgttggcgccatcttcttttcgagtccttgtacctccatttgctctgatgac
10 ctacctatgtaaaacaacatctactaacgtagtccggtctttcctgatctgccctaacctacaggTCGATCCGAAattcg

Actually, none of the sequences have an unmodified copy of the original motif
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Profile and Consensus

How to find approximate string matches?

● Align candidate motifs by their start indexes

s = (s1, s2, … ,st)

● Construct a "profile matrix" with the frequencies 
of each nucleotide in columns

● Consensus nucleotide in each position has 
the highest score in each column
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Consensus
● One can think of the consensus as an ancestor motif, from which mutated motifs emerged
● The distance between an actual motif and the consensus sequence is generally less than 

that for any two actual motifs
● Hamming distance is number of positions that differ between two strings
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Consensus Properties
● A consensus string has a minimal hamming distance to all its source strings
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Scoring Motifs
●

●
○ We consider every candidate motif in every string
○ Return the set of indices with the highest score
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Let's try again allowing for errors
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Test and time this one
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Running Time of BruteForceMotifSearch
● Search (N - k + 1) positions in each of M sequences, 

by examining (N - k + 1)M sets of starting positions
● For each set of starting positions, the scoring function 

makes O(Mk) operations, so the complexity is:

Mk(N–k+1)M  = O(MkNM)

● That means that for M = 10, N = 80, k = 10 we must 
perform approximately 1021 computations

● Generously assuming  109  comps/sec it will require only  1012  secs

                                           1012           
(60 x 60 x 24 x 365)

● Want to wait?
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How conservative is this estimate?
● For the example we just did M = 4, N = 80, k = 10 
● So that gives  ≈  4.0×109  operations
● Using our  109  operations per second estimate, 

it should have taken only 4 secs.
● Instead it took closer to 700 secs, which suggests 

we are getting around 5.85 million operations per 
second.

● So, in reality it will even take longer!
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How can we find Motifs in our lifetime?
● Should we give up on Python and write in C? Assembly Language?
● Will biological insights save us this time?
● Are there other ways to find Motifs?
● Consider that if you knew what motif you were looking for, it would take only

k(N–k+1)M=O(kNM)

          to find its indices in each string.

● Is that significantly better?
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